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3
10×  / ndf 2χ  256.5 / 9

Constant  2.096e+02± 1.389e+05 

Mean      0.00017±0.00277 − 

Sigma     0.0002± 0.1302 

=143, p=[1.0,12.0]σ

 KinFit MC+π

 KinFit Data+π
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3
10×  / ndf 2χ  173.5 / 9

Constant  2.093e+02± 1.389e+05 

Mean      0.000173±0.002767 − 

Sigma     0.0002± 0.1302 

=143, p=[1.0,12.0]σ

 KinFit MC-π

 KinFit Data-π

 T (ns)∆TOF 
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3
10×  / ndf 2χ   3202 / 9

Constant  1.066e+02± 1.367e+05 

Mean      0.000090± 0.009514 

Sigma     0.0001± 0.1306 

 / ndf 2χ   3202 / 9

Constant  1.066e+02± 1.367e+05 

Mean      0.000090± 0.009514 

Sigma     0.0001± 0.1306 

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2
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3
10×  / ndf 2χ   2996 / 9

Constant  1.063e+02± 1.368e+05 

Mean      0.00009± 0.01035 

Sigma     0.0001± 0.1309 

 / ndf 2χ   2996 / 9

Constant  1.063e+02± 1.368e+05 

Mean      0.00009± 0.01035 

Sigma     0.0001± 0.1309 
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